I TIYRID'T YT ORI 7711 noon MY AT TIHY 1y UeY

16.7.6
53a (3p »xm) 2 54a (8570 &5)

ro:07 72793 0007 NYIY RNY--9273 IR ,DTR DRYI-IN 002 IR 390-5903 ,7790 29-5Y Y-y 99)

v 0w 1292 IR NP IR L,HINI IR DXPD ,YAD-OP) ;DU-17 IR NIYOIN-HYT ,00020-52-591 HDRN-OY 11,3900 YR , 002 D101 R NP

I Analysis of last clasuses of nwn
a  1/.2 ap of bones — must be case where bones are smashed to fine dust — else, there’s at least a lentil’s size of bone
b nnn m/onn g 9ar with sufficient flesh on it:
i If there isn't sufficient flesh:
1 pnv 7 m doesn’t shave
(a) Reason: omission from next mwn - since it’s an obvious inference from ours
2 9M:7mshaves anyways
(a) reason: omission from next mwn is telling
(i) argument: Y4 2p bone is inferable from our Mmwn, yet it’s listed in next nwn (as not generating “shaving”)
(ii) Counter: that is necessary: without it, we would think that even for Xwm yan of % - not n%n
(iii) Argument: ¥4 01is needed to counter y™'s opinion that (even if it comes from 2 n'nn) > “shaving”
3 Question: does this nnn 1n 72K have at least a barley-kerne’s worth of bone?
(a) Ifit does: why would 1any 1 say you don’t shave?
(b) Ifit doesn’t: why would 5™ say you do
(c) Answer: it doesn’t have it — 9™ says is included via na%n win:
(i) V.1(0nR):
1. n7wn 719 Yy —if he is »nRn over the corpse
2. 99ma —includes an 'nn 10 728 who may be healed
3.2 - 55N =17n (meaning: the metal touching the corpse is NRmMYN Mar *1R)
4. nna R - includes 72 that was removed from the nn
5. TR D¥Ya R — includes Y4 ap of bones
6.91pa R — includes a sealed grave
(ii) Contrav.2: (yn)
1. o¥ya — a barley-kerne’s size of bone
2.99n1 - an 1ar taken from a living person who can’t heal (mortally wounded)
3. nna-alimb separated from a corpse
a. Must be without a barley-kernel’s worth of bone (else it's covered under nTR nxya above)
b. 9™ - therefore, nnn n 9aR with less than n1Yyw) oxy is still RnY
c. " —still requires nMyw> DRy — needed here to expand to yin nrmvo
4.91pa - 9" — refers to 92p from before NN NN
II  Analyzing final clause -
a  Question: when does he begin counting his n9n0 1 —
i Possibility #1: immediately at end of 7t day (vnw 19yn) - like 8™
ii  Possibility #2: on 8™ day after bringing his nnap - like 1327
iii Answer: inference from next mwn (no M) —
1  says he begins counting immediately >
2 our mwn (with shaving and cancelleation) must mean he begins counting the next day when his offerings are
brought - 1327
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